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. (4) 

������ ���	���
� ��
�� ����� ���
�� ������� 
�����
�.  
��	��� 
������� �������
, ��� 	 ��	
�
����
 �� �������
� �������� ������ �� 

�����������

! 
 ����������
! ��"���
� ����� (E1 / E) �������� �����
�, 
�����
������ �� ��	�� �����
, ���������� �� 5 …15 % "�����, ��� �������� 
�����
�, �����
������ "�� ����� ������ �� �����������

!. #� ���� ���
�
���
� 
�������
 �����
� ��-��	��� �� ������ �"�����
	��� ��������! ������
! 
����
��������	, �� 
 �"�����
	���, ����� ��"������, ��	����
� 
���
�	��
��������
. 

 
$�
��� 
�������	����� 
�����
��	 

1. &'��
��� *. +. *���
��	��
� ������
�����	 	 ���
��������

: ����	���
� 
/ *. +. &'��
���, 0. +. 2����
���
�. – 2
���: �������� �����, 1985. – 283 
�. 

2. $���	���
� �������
�-���
������
����. � 2 �. #.2 /��� ������
�� 7. ;. 
<��
��	�� 
 �. <. 2�'�����	�. – 4-� 
��., ������". 
 ���. – 2.: 
2��
��������
�, 1986. – 496 �. 

 
SUMMARY 

Analytically, on baseline of known empirical models formulas for definition of optimum 
speed of shearing are received at turning and milling in view of expenses for the 
technological electric power. Efficiency of calculations on new mathematical models 
depends on the attitude of expenses for kWh of the electric power and expenses for 
maintenance of a workstation. Optimization of speed of shearing on new not only 
provides some economy of power resources, but also provides, let small, raise of 
productivity. 

 
 
��� 621.865.8 : 658.52.011.56       

���������	
�� �
����	, ��
����	 � ���
���	 
���	������ � ����	����� 

�	���������������� ������������ 
�.�. �����	�
 

*��
�	����	����� �
����� (��� 
 �!"�� ���
�� 
������	����� �">���) 
���� 
�	�
� ��������
�� 	����� �����������! ����, 	 ���������� ������ – 

�
���	���
� ���������������"��� ���
������
������� �������

. � ������'�� 

������	��

 
����������� �"'���
����� 	 �
"�����
�� ����� ����
� �� ���� ��� 
�� �������� ��������� Y. ��� �
� �������
� (�.�. ����
���
� ���
) ���"���
�� 
��������� ������� X (�
�. 1) 
 ������� (������	�) 
� ����"����	��
� W. 

 
 
 
 
 

�
����� 1 – *��
�	����	����� �
����� ��� «������ �'
�» 
 

W 
X Y
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� ������	� ��
���
� �??���
	����
 ���
�	����	����� �
����� �	����� 
��������� [1] ���??
�
��� �� �����������
: 

 
� - �� 

�� = ––––––, 
�� 

 

�� � – �">�� 	������ �������

 Y 	 �����
� ����
�����
� ���
��� 

����������

 ���
�	����	����� �
�����; �� – ��	������� ����'
� ������� 
�� ������� X �� ��� �� ���
��; �� – ������� �� ��
�"�����
� 
 
�"����
	��
� ����	��� ���
�	����	����� ?����	 W. 

��� ��������
� �����
 ����	���
� �??���
	��� ���
�	����	�� 
���
������
������� �������

 	 ����	����	

 � ������
����� ���������� 
�������� [2], ����	����� �� ����
���
�� ��	�������� ����

 
�	��
�������
 	 
�	�����
������ ����	���

 [3], ���"���
�� �����
�
��	��� ����� (��. �
�. 1) �� 
	
�� «����
� �'
��» (�
�. 2) 
 �����
�� �� ��� 	����
� 	�������	
� f – 
������
� 
������ ������	. 

 
 
 
 
 
 
 
 
 
 

 
 

�
����� 2 – <��������� ���
�	����	����� �
����� (<*$) ��� «����� �'
�» 
 

� ����	����	

 � ��
��
��� ����	���
� �� 	����'��
�� ���������
������ 
	����
� 	�������	
� f 	����
�
��!��� �����
	��� ����������� �
����� 
 
�������
��!��� 	 ���: f - f = 0, ��� ��� ����	��� (�.�. «
�	��
������») ����� 
���
�	����	����� ��������� ������
��
� �
��
��� ?����
��
���� 	 ���������� 
(��������) ���
��, �������� �� ����"��
� �������� ���>!������. +����� ���
� 
�"����� �">��� ����	���
� – <*$ ���'���	���� ���
�	����	����� ������� 

�
���	���
� 
����
� ���
��������
�. +����
?
���
� <*$ ��� �">���� 
����	���
� ����	��� �� �����!'
� ���������� ����

 �� ������
� [2]. 

*�
��
� ����	����	
� ��������� <*$ �� ���
 (	 ����
����-?��������� �����

 
[4]) 	������� ��, ���, 	�-���	��, ���� (Z) �	������ �
������"����!'
� ?�������; 
	�-	�����, �����	������ ���� ����� "��� ����

���� 	 ��� 
�
 
��� ������
 
������
�� 
 (
�
) 
�������	��
�� �������	� �������� <*$ {St}; 	-�����
�, 
����
���
� ���
 ���'���	������ 	�"������ ���������� <*$ ��������	�� 
	�������
� 
�����
����
 ��
��
��	����� ?����
� {F}: 

 

Z D {F} D {St}. 
 

*�
��
� ������
	��� ��������
�

 
�����
������ ��������� <*$ 
����������
	��� ���
�
� 
�	��
�����
� 
 �����
	��
� ������� �� ������ ���	�� 

�����

 ��������
�
����� ��������� �
�����: 

 

�	
��
�	� 

������� W 

Y 

X 

f -f 
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St (<*$) = �
N

i 1


Invi �  adpN . 

*�
��
� �����
���

 ?����
�������
� 
�	��
���� ���	����� �� ����	� 
���	�
� ��
��
�� ?�������� 	����
�� �"'
� ��'���	����� (�.�. 
�	��
������) 
�������� �������	 �����, ?����
� 
 �������� ���
�����	�� <*$: 

Inv {Z} DInv {F} D Inv {St}. 
 

*�
��
� ?����
�������� ������������
 ��
������
���� ������� 
��������
������ ����
���

 ?����
� �!"�
� ���	�� 
�����

 �� 	��� 
�
�
������
� ���"���
��
� ������
� ��� ����
���
� ���
 <*$, �.�. �!"�� 
���	����
� ���
� ������
� 	���� � ������	������� �	��
���
! ������ �� 
������
� 
 ����������
! <*$: 

 

Lf = [Lf] D LG = LG opt . 
 

*�
��
� ���
������
� ���������
� ������ �� ?����
�������� 
�	��
��� 
 
��"
����� ������� (�����������) �����	��� �� ��'���	�	��
� ��
�����
� 
	��
���� �����������
� 	��
������'����� �������	 �� ����
���
! ���������� 

 ���������� ������ <*$ 	 ����	����	

 � 
� ?����
�������� ����
�����! 
(	�������!): 

 

L3 (Inv)       R Finv 
___________ = ________  . 
L3 (adp)     R Fadp 

 

*�
��
� �	��!�
����
� ������� � �����
! ����� ���	
�
� 
 ������
���

 
<*$ ���	����� �� ����	� ��� �� ����

 ����
��
� 
 ?�������	 [4] ���'���	���� 
�����������! ����������! �������
! <*$ � 
�����!'
��� 	����
� ����	
��: 

 

St (<*$)T=0 D … D St (<*$) T=T HJ 
 

����� �����
��, ��� �����
	��� ����������� ��������� <*$ 	 ���� �� 
?����
��
��	��
� ���
������ � 
������
� (
�
 ������) �������� ����
� �
���
� 
����������
� ���	�� <*$. 

*�
��
� ���"�����
� �����	 ���	
�
� <*$ 	 �� ��������� ���������� 
������

! ������
���

 <*$ �����!'
�
 ���?
����
: 

 

f: [St (<*$)T=0 D … D St (<*$)T=T] D St (<*$)T=T. 
 

�����"������� ��������

� ��
��
���
����
� ������
��	��
� ����"��� 
�������

������ �
����� ��������
���, ��� ��� �">��� ���
�	����	� 
��������	��� ��� ������	����� 
������
� �� ��������

 �	��
� «�
������
� 
�
���» �� 
��
 �������

 �� ��	��� [2]. � �� �� 	���� �� ������ ����� 
���
�	����	����
� �������� ���
����
� �������	�������� �����?�����
� 
����	����	�!'
� 
�	��
����	 
 ��������	. #��, ���������
	��� 
�	��
��� 
�������

, 	��������� 	 ���, ����
���, 
����� 
� ����
�� �����"��
� 
��������
�, ����"�������� 	 �������

����
� 
�	��
���, � ����� – 	 ����
����
� 

�	��
��� �"�����	��
� [5].  

*�������� ?
�
�����
� ����"����	��
� 
�	��
������ 
 �����
	��� ������ 
�������� ���
�	����	� ��������	�!� ����	����	�!'
� 
� �������� ���������
� 

 	
��������
� �����
��	��
� (�.�. ����
��	��
�) ����
���

 ���
�	����	����� 
������
��
�. #��
� �"�����, �������
	��� ��">����� ����	���
� 
����"����	��
�� �">���� ���������
� ���
�	����	� �	��!��� ����
��
��� 
������ ����������� �����������
� ������
��
�, �">��
������ ��	������� 

��������� ������������! («Concurrent Engineering»). <����� 
� �����	 
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�������
	��
� ��">���� ����	���
� 	����
�
���� ����'�� �������
� (�"���) 
�">���� ���
�	����	� 	 �	��� ���?���
�������� ������� (�
�. 3).  

*��	��� 
������
�����! �����

!, ������ ���?���
�������� ������ ����� 
�������	
�� ������������ ���
������� �
������ �����
��� (�.�. «������
����
� 
����������	��»), 	 ������! �����
������ �"��� �������

. #�
�� ������� �� 
����
� ������
�����
� ����������	� � ���
��� ?�������� ����� "��� ��
��� � 
����'�! �������: 

 

ei+1 = tii+1 ei .      (1) 
 

*�
 ���� ������ �
����� �����
��� ei ��������
���� ��	��������� 
������������ �"����� ��
��
��	����� ��
�����	, ��
��	�!'
� 
 
�
??�����
��!'
� �">���� («��'����
») ��������� �������������� �"����
. 
P��"���
�� �����
��, ��� �����"����� ������������ ���	
�� 
����
��	�
 
��������� ��
�����	 (�����
�����	) 	 "���� ���
� ����
��

 (?������), ������� 
�	��!��� 
������� ��?�	
��� ���������
� ������
�����
� ����������	�. Q���� 
���?���
�������� ������
����
� ����������	� ���"�� �������	
�� ��� 
��
���
������, �����
���� �����, ������� ��������
	�!��� ��� �����
 �� 
����	����	�!'
� ��
���
��. #�
�� �
����
����� ������ (�"���) �">���� 
���
�	����	� �� ������ ����� �
� �
������
� �
��� 	�
���
� ��� 
�����
� 
�	��
����
����
� �����������, 
�� ������ 	�������'
� 
 "���� ������� ������ 
�	������ �
��
���� ������� ����������� ������	�. <���������� ����������� 
������	� ����� <*$ ����� "��� ���������� ��
���� ���??
�
��� �����������
. 
���������� �
� ��������
�
� ��
	��
� � ��
�
���� ����
��-������
����
� 
����������� 
 ����� � ���������� ������
�� ����
����
� ���������	 
�������

�����
� �"�����	��
�. T������	
� ?����
�������� ��	
�
����
 ����� 
�
�������
 ������
��
 ��
� 	��
�
� ��������	����� �� ���� 	����������
� 
����
�� ��������������-�������

����
� 
 ��
��
���
����-������
����
� �	���� 	 
�������� �������
	��
� ��
���
� ����	�������
� �����
�. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
�
����� 3 – $�">�����-�">������ ������ �
����� ���������
� ���
�	����	� 

 

#�������� ������ � �����
��	��
! �������
	��
� ��">���� ����	���
� 
���	����� ?�����
��	��� �����">������ 
�?�����
����� 	��
�������	
� 	 

���������	
 (�1)�����
�� (�7)

����	����	
 (�6)

�������	�� 

����������� 

�����	�� (�4)
���������
��� �� 

(�5) 

(�3) 

(�2) 
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����� �������� ����	���
� <*$. P� �
�. 4 �������� ��� ���'���	���
� 
����������	����
� �������� ����
� ����������	� � ���
��� ��
����� 	������
! 
(1), ��� 
 
�������	��
� «�"������ �����» ����� ���������� ��������� "��� 
������ "���� �
���
� ���	�� � �!"�� ���"����� �������! �����
���

.  

1
x m

i�

nx

2mx

nx
2

1

� i + 1

2

n
T m

2
m
mn

m=  T C
2

1 n
n1

2 C
1

2

1

1d
T c 1

1 =  T... c
... dd

c 2

2
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n ... 2 ...

2 ...

b b
1

1
a a

d
C b 1

1d
C b 2

2 a
C... c

a
C c 2

2 ...
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2

2
x n

i�

mx

1
x nn 1

m

ii=  �   i �

m
m

n

=  C

=  C

x
1

2

2

+ 1

1

 
�
����� 4 – #�������� ������ �����">�����
� 	��
�������	
� 

 

V??���
	��� ����
���
� ���������
� ���
�	����	� � ���"���
�����! 
	��!���� 	 ��"� ����	���
� ���?

����
�� <*$. � �	�! �������, ���� ������� 
�������	���� ��"�� ����!�
������! ����
! ��
��
���
����-����
�����
� 
������
��	��
� ���������
� ���
�	����	� – �����
	��! ����������! ��������� 
��������� �������

�����
� �"�����	��
� <*$ [2]. *�
 ���� ����!��� �	� 
����	��� �����
: 1) ������
	��� ���
���
�
 ���>!������ �����; 
2) �����������
� �������� ��������� ����
����
� ������	 <*$.  

��� �����
� ��
� ����� ��
���
� ����� $2�-���
����
��	��
� [6], 
����������
	�!'
� 	 ��
�����

 � ��
��
���

 ���������
� ���
�	����	� 
�����!'
� ��

:  


 ��������
� 
�������� ����
�� ?����
��
��	��
� <*$;  

 �
����
����� ����
� ����'�
� �������
� �
����� 
 �������� �����;  

 ���������
� ������� ����� 	 ��������

 ���	
�
� <*$; 

 �����"���� 
 ����
���
! ������
���� ���	
�
� <*$ 	 ������� ������. 

2������
������ ������ ��
���
� ����	��������
� �����
� 
���� 	
� 
 

�T* = �T* (�), 
<�,T*> 

 


�� <�,T*> - ������ ��
���
� ����	��������
� �����
�, � - �������	� 
	��
����	, T* – ��
��
� ���
��������
, �T* – ?����
� 	�"���, ������� 
�������	���� �!"��� ����������	� ` � � �
� ����� �T* (`). 
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� ����	
�� ��	������� 
��������� �����������
 �� ����	���
! ���������� 
���
�	����	�� ��
���
� �����
� ���'���	������ �� �����
��� 
�����	�
� 
	�"��� [7]. 

� ����!���
� ���"���
�� �����
��, ��� ������������ 	 ��"��� ?��������� 
�����
 �">����, ��">���� 
 �������� ����	���
� 	 ���������� ���
�	����	� 
�����!� ������
�����! "��� ��� �
����
� 
 �??���
	��
� 	������
� 
��	�������� �����!������ �������
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SUMMARY 
The problem of a lean machine-building manufacture efficient control is studied. 

Formal models of the compact production elements are offered. The author shows that 
the developed models can be used in intellectual information system for resources 
complex economy support during the machine-building enterprises planning, 
reconstruction, and functioning. 
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